(3) FERMEEE

B Yog g OEE K = F K =% (%)

WUTAEH B - - -

5 # 3t C # B C # 2
Rk 5. 3. 14 8, 153 8,577 16,730 | 3,884 3,839 7,723 | 47.64 44.76 46.16
Rk 9. 3. 16 8, 994 9,455 18,449 | 3,417 3,404 6,821 | 37.99 36.00 36.97
ERk13. 3. 25 9, 555 10,042 19,597 | 4, 124 4, 060 8,184 | 43.16 40.43 41.76
ERk17. 3. 13 9, 832 10,309 20,141 | 4,951 5,182 10,133 | 50.36 50.27 50. 31
k2 1. 3. 2919,626 10,059 19,685 | 5,089 5,272 10,361 | 52.87 52.41 52.63
k2 5. 3. 179,247 9,696 18,943 | 3,537 3,676 7,213 | 38.25 37.91 38.08
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(4) FERELSEEBE
) YO O O OF | OB = FH K| B om ok (%)
WUTAEH A

U % 3t = % 2 w % 2
k1 1. 4. 119,390 9,802 19,192 | 3,481 3,263 6,744 | 37.07 33.29 35.14
Frk15. 4. 13 — - - — - - — - —
Rk 1 9. 4. 819,755 10,228 19,983 | 5,521 5,882 11,403 | 56.60 57.51 57.06
FpE23. 4. 10 — — — — — — — — —
YEt2 3. 7. 2419,442 9,877 19,319 | 3,260 3,325 6,585 | 34.53 33.66 34.09
TE) VR L 54 - 2 844 H 1 0 HIc v Cld s TRl : R P B

SR 2 3T H 2 4 BIZHOWTIIMREZE



(5) RETREZE

B YOoH OfF M OFE K| OB = OF K OB = ok (%)

WUTAEH B - - -

5 # 3t L # B C # 2
Rk 8. 2. 18 8,918 9,393 18,311 4,743 4,983 9,726 53.18 53.05 53.12
k12, 3. 12 9,424 9,874 19,298 6,785 7,514 14,299 72.00 76.10 74.10
ERk16. 3. 14 9, 785 10,221 20,006 6,883 7,673 14,556 70.34 75.07 72.76
k20, 3. 16 9,773 10,199 19,972 6,468 7,078 13,546 66.18 69.40 67.82
T2 2. 5. 23 — — — — — — — — —
TE) TR 2 2 R OV T L e i TRl : R B2 B

(6) ¥ETELEE R
) YO O O OFE K| OB = F kK| OB = R (%)
WUTAEH A

5 # 3 = % 2 w % 2
SRk 8. 4. 148,877 9,367 18,244 | 6,069 6,798 12,867 | 68.37 72.57 70.53
Rk 9. 1. 19109030 9,482 18,512 | 4,449 4,844 9,293 [ 49.27 51.09 50.20
k1 2. 3. 129,424 9,874 19,298 | 6,781 7,514 14,295 | 71.95 76.10 74.08
YEt16. 3. 1419,78 10,221 20,006 | 6,883 7,670 14,553 | 70.34 75.04 72.74
YEt20. 3. 16(9,773 10,199 19,972 | 6,468 7,075 13,543 | 66.18 69.37 67.81
YEk24. 4. 159,303 9,816 19,119 | 5,185 5,810 10,995 | 55.73 59.19 57.51
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